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(B3 907 282 625 [EN T 3,420 2,133 1,287 |1 [FRERX 24 5 19
2 [EFE 55 5 50 2 & 43 7 36 2 |FRR 85 13 72
3 [5FE 82 19 63 3 [Fhimth 16 3 13 3 |BX 694 327 367
4 |ERE 94 17 77 4 |BEH 237 61 176 4 | FERX 2,380 1,025 1,355
5 [FAHIE 34 7 27 5 )l 116 63 53 5 | XEEKX 179 86 93
6 [LLFzE 33 5 28 6 [tEERE™ 15 1 14 6 [ BERK 1,016 601 415
1 |RER 100 13 87 RE = 575 194 381 ETETSS 985 477 508
8 |RE 148 15 133 8 [m#kth 913 352 561 8 IERX 61 40 21
9 [HEARE 324 27 297 9 | K 4,168 2,644 1,524 | 9 [SRIIX 188 106 82
10 [HEEE 127 22 105 |10 R 34 1 33 10 [HERX 35 14 21
1 [BEE 284 44 240 |11 [#HFE™m 99 35 64 11 [ KARX 161 75 86
12 |[FER 784 96 688 |12 |Eth 56 12 44 12 [{HHAX 300 103 197
13 | B4R 313 66 247 13 |[[LETh 407 247 160 13 X 1,183 639 544
14 [#=JIE 336 90 246 14 [)IlIOHh 15 6 9 14 [FEFX 276 142 134
15 [FiRE 204 11 193 15 [J\EFH 36 11 25 15 (&2 268 96 172
16 [EILE 99 12 87 16 [##28&h 59 4 55 16 [EBEX 1,282 606 676
17 |[BIIE 37 6 31 17 |&iRt 62 30 32 17 [k 268 109 159
18 |fBHE 27 4 23 18 [Z4ETH 4 1 3 18 [FIIX 98 61 37
19 [ILBE 270 44 226 19 |—= 3 1 2 19 [#RIEX 306 128 178
20 [EHE 121 20 101 20 |[#xATH 15 4 11 20 [FEX 80 12 68
21 [IFE IR 170 22 148 |21 [J\EH 3 1 2 21 [RIX 103 43 60
22 [ERMEE 312 62 250 |22 |[BRJIH 3 3 0 22 | B 289 165 124
23 [BEHE 99 14 85 23 |WRHETH 11 2 9 23 IR 271 125 146
24 [=F 8 147 15 132 |24 [5ERR™ 3 0 3
25 |HER 163 28 135 | 25 |[Bi&Hh 5 0 5
26 |ARAF 67 7 60 26 [B=ET 1 0 1
27 | KR AF 162 26 136 |27 |BAFETH 0 0 0
28 |[EER 57 5 52 28 |[ERH 56 9 47
29 [ =ERER 163 17 146 |29 |EHH 13 2 11
30 |F0FRILIE 405 115 290 |30 |E&h 20 7 13
31 [ERE 23 3 20 31 |E%0mh 19 2 17
32 |BRE 84 11 73 32 |IRZ;H 444 79 365
33 |REWIE 41 10 31 33 [ATHT 18 3 15
34 [[LER 137 26 111 34 |@ER™ 68 9 59
35 [lLOE 68 8 60 35 |F4IBmH 18 4 14
36 [EER 54 7 47
37 [BIE 117 40 77
38 [BER 110 25 85
39 (SR 48 6 42
40 |fER R 1,600 906 694
4 [EER 33 10 23
42 | RIBE 143 40 103
43 |FERIR 100 21 79
4 | K8 92 30 62
45 [FIFIE 71 13 58
46 |[ERER 163 24 139
47 [hiER 1,324 369 955
10,332 | 2,665 7.667 10,975 | 5,931 5,044 10,532 | 4,998 5534
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